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OCR AS/A2 Critical Thinking

8 Analysis

1
Analysis of the Street Porter passage:
a
This is scene setting. It provides the background evidence for the writer’s contention that there is an overweight problem that must be tackled.

b
This is an analogy. It serves as a reason for the conclusion ‘Bring back rationing’ by showing that, in the past, rationing made people thinner, so by implication the same could happen again.

c
This, with the following two sentences, serves as an amplification of the conclusion ‘Bring back rationing’, providing more detail as to how it should be done. The argument is structurally complete without it but it acts as a sort of footnote. Arguments could be made for ‘Bring back rationing’ being the main conclusion with the three more detailed sentences as the intermediate conclusion, or vice versa, but I do not think this is the case. Examiners, however, are often flexible about alternative possibilities.

d
This is a response, briefly acknowledging an anticipated counter-claim that the detailed suggestions of rationing are drastic, before going on to dismiss the counter-claim.

e
‘but look where free choice has got us’ is the continuation of the response to the anticipated counter-claim that rationing is drastic, this time challenging it. It is rhetorical, referring back implicitly to paragraph 4’s statement that we have no sense of when to stop eating.

2
This is a complex passage that can be analysed a number of ways, each of which examiners would credit. 

Paragraph 4 continues the strand of argument from the previous three paragraphs, establishing the contrast between the body size and circumstances of people nowadays and two generations ago. 

‘Now we’ve got more money and allegedly a higher standard of living’ (R1), ‘but no sense of when to stop eating’ (R2), acting as joint reasons.

Obesity is a problem just for the poor because they can afford only fattening foods — anticipated counter-argument.

‘And don’t tell me it’s about poverty’ — response to anticipated counter-argument.

‘If a third of the nation’s 11-year-olds are overweight before they start secondary school, it’s a disease that affects all classes and income levels.’

This is hypothetical reasoning and a continuation of the response to the anticipated counter-argument above. Taken together with R1 and R2, it can be viewed as R3 plus IC1. 

‘The government is waffling about inspecting lunch boxes’ — counterclaim.
‘an idea that will never work’ — response to counterclaim.

‘What we need is dead simple’ — R4.

‘Bring back rationing’ — conclusion to the whole argument.

Rationing should not be introduced, because it is contrary to human rights — anticipated counter-argument. 

‘Don’t talk to me about human rights’ — response to the anticipated counter-argument. 

Human rights are not the greatest priority — implied reason for response to counter-argument.

‘At this rate one third of the younger generation aren’t going to make it past 50 before they peg out from heart failure’ — evidence (hypothetical) for implied reason, or could be viewed as R5. Alternatively it may be viewed as IC2 supported by IC1 (‘If a third of the nation’s 11-year-olds are overweight before they start secondary school, it’s a disease that affects all classes and income levels’).
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